asym_sam?2

asym_sam4

asym_samb6

asym_sam3

diff _

- —=2p¢ 30000 [~
—18¢ - R
20000 [~ 20000 - g
[ —150 [ —14¢
10000 yac 10000 [ o
: —12¢ :
o o
n 100 -
10000 10000
n &0 N
20000 | 60 20000 |-
i . 40 -
30000 - m 30000 |
i 20 [
| N ||
mnnn_lIII|III|III|III|III|III|III|III|III D _‘H}Dnn_lllIIIIIIIlIIIIIIIIIlIIII|IIII|IIII|II ﬂ
8 -6 -4 -2 0 2 4 ©& B8 10 40 =30 =20 =10 O 10 20 30
difi_bpmdaX/um diff_ bpmdaYium
15000 :— —20 15000 [ —18¢
[ —{18¢ N _
10000 10000 | 18
n '8 - —14c
5000 — 5000
n —14( -
- - —12
o O
- - =
-5000 ~5000 |
10000 - 10000 |-
- - 40
15000 [~ - 15000 |-
- 20
20000 - = 20000 — .
_|III|III|III|III|III|III|III|III|III D _|IIIIIIIII|IIIIIIIII|IIII|IIII|IIII|II ﬂ
8 -6 -4 -2 0 2 4 ®& B 10 40 -30 -20 -10 O 10 20 3D
difi_bpmdaX/um diff_ bpmdaYium
d ' d '
. —25( : —=or
20000 20000 —
- - —18¢
15000 — 200 15000 | —{160
10000 | 10000 | —{14(
5000 | 5000 | -1
o 0
- 100 -
5000 ~5000
10000 10000
[ 50 - =
15000 15000 20
u n u
50000 Clo o te oo b bvea b booabraa Lo 0 spoog L clo v bbb by b 0
& -6 -4 -2 0O 2 4 ®& B 10 40 -30 -20 -10 O 0 20 30
difi_bpmdaX/um diff_ bpmdaYium
d ' d '
| I— | N
20000 200 20000
- - —18(
- —18¢ -
15000 | 15000 | e
n —16( N
- o —14¢
10000 - Ly 10000 -
- - —12r
5000 = —12( 5000 [
n - u
- 100 -
o o
- 80 -
-5000 ~5000 |
- &0 -
10000 40 10000
15000 u 29 15000 :—
| 1 11 | 1 11 | 111 | 1 11 I 11 | 1 11 | 111 | 111 I 11 I

oression-asym sam?24¢

run3660 000 regres:

“vs d

—16(
30000 350 30000
[ —14¢
20000 300 20000 [ g
—12(
10000 25( 10000 |-
- — 100
(1] 200 0 .
-
10000 15( 10000 |-
20000 100 20000 |
30000 50 30000 [~ 30
B [
_IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
40000 0 40000 =50 15 10 -5 0 5 10 15 20 o
difi_bpmdaX/um difi_bpmdaYium
15000 15000 [
- —asc n
C C —16(
10000 10000
n [P - —{14¢
5000 5000
[ —agg n — 12
o of
- 200 _
~5000 | ~5000
. 150 C
10000 |- 10000 |
- 100 -
- - 40
15000 |- 15000 |-
- > i 20
20000 = 20000 =
_l 1 1 | | | 1 | | | 1 | | | | | | | | 1 ﬂ _IIIIIIIlIIIIlIIIIlIIII|IIII|IIII|IIII|IIII|I D
_ 40 _20) ) 20 40 &0 20 -15 -10 -5 © 5 10 15 20
difi_bpmdaX/um difi_bpmdaYium
diff_ diff_bpmdeY
[ —450 B —{18(
20000 20000
- —{40( - —|1&t
15000 15000 |
- —38( - —14
10000 — 10000
" —{apr C —12(
5000 5000 |
- 25l - m
ol ol
- 200 -
~5000 5 - ~5000 5
10000 | 100 10000
- " =
15000 o0 15000 [~ a0
u - [ |
sn000 L T N N T N N TN TN NN NN T M AN T N I A A O 0 30000 o v ool brroar b b b b b b 0
_4D _30 0 20 40 &0 30 -15 -10 -5 © 5 10 15 20
difi_bpmdaX/um difi_bpmdaYium
diff_ diff_bpmdeY
N N — —18¢
20000 | —anc 20000 |
- - —16C
15000 | —35¢ 15000
. C —14¢
10000 | g 10000 |
- - —12(
5000 e 5000 [
o :_ 200 0 :_
N 15( [
-5000 | 5000 |
- 100 -
10000 10000
- 50 -
15000 15000
B -IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

30000

20000

10000

10000

20000

30000

40000

diff

15000

10000

5000

~5000

10000

15000

20000

"-"1

=5000

10000

15000

20000

91

10000

5000

=5000

10000

15000

7. postpan.png

—16(

—14L

—12(

—100

20

B | 1 1 11 | L 1 1 1 | L1 1 1 | 1 1 11 | L 1 1 1 | L1 1 1 | ﬂ
=30 =20 =10 0 10 20 30
diff_bpmEfum

—16(

—14(

—1&(

=100

20

[ | L1 11 | L1 1 1 | L1 11 | L1 11 | L1 1 1 | L1 11 | ﬂ
-30 -20 =10 0 10 20 30
difi _bpmEfum

—18(

—16(

—14L

—12(

100

20

lovvva lvvva bv v v b v bv v v g | 0
-30 20 =10 1] 10 20 a0
diff_bpmEfum

—16(

—14L

—12(

— 100

20

| 1 1 11 | L 1 1 1 | L1 1 1 | 1 1 11 | L 1 1 1 | L1 1 1 | ﬂ
20 =10 0 10 20 30
diff _bpmEfum



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run3660 000

6000

4000

2000

=2000

=4000

=6000

:
;
:
E
2
:

=
IIIIIIIIIIIIIIIIIIIIIIIIII

& -5 -4 -2 0 2 4 & & 10
diff_bopm4aX/um

91

2000

1000

=1000

=2000

=3000

—[III|III|III|III|III|III|III|III|III

-8 -6 -4 -2 0 2 4 6 8 10
diff_bpmdax/um

diff

2000

1000

=1000

=2000

=3000

& -6 -4 -2 0 2 4 & & 10
diff_bpmdaX/um

diff

3000

2000

1000

=1000

=2000

=3000

resression-reg

& & -4 -2

20

10

1]

—12C

—{10(

20

(1]

—120

—100

20

(1]

—12C

—10C

20

e000 —
| —14c
4000 —
B —121
2000 = —{10
ﬂ_
| =
2000
4000
[ 20
=g000 —
v b oa v e bovoa bvra bvraa oo b 0
=40 =30 =20 =10 O 10 20 a0
difi_bpm4aYium
d.
E-I}DU:— —{18(
N —16(
2000 —
i — 141
1000 |- m —12¢
- 100
o N
= I. B0
~1000 |
: |
B 40
—E-I}EIU_—
E B 20
=000 T, b b b b L 0
40 ~30 20 =10 1] 10 20 a0
difi_bpmda¥ium
d.
B —{16L
2000 —
i — 141
- 10
u_
B a0
=1000 — u 60
i 40
2000
= 20
—E-DDD-l""I”"l""l""l""l”"l”"l” 0

40 -30 -20 -10 ©0O 10 20 30
diff_bpmda¥ium

d'
—200

3000 [
i —{18¢
2000 :— —16¢
[ —14(
1000
o =
~1000
2000
i 20

=3000

SATdA68 Vs d

8000
i —10c
4000
= —80
2000 [
| m
ol B0
2000 40
_apon
- 20
~6000 |- n
[ | | | | | | | | | | | | | | | | | | | | ﬂ
40 20 0 20 40 B0
diff_bpm4aX/um
diff_bpmdeX
ap00
B —{12¢
2000 |
N —100
1000
i a0
[' L
i [ ] 60
_1000
- 40
_apon
B 20
_:}DDD [ | | | | | | | | | | | | | | | | | | | | ﬂ
4D 20 D 20 40 B0
diff_bom4eX/um
—{12¢
—100
80
B0
40
20
0
diff_bpm4aX/um
d .
3000 |- —{14¢
2000
1000 |-
n L
~1000 |-
_2000 |

iff

IIJ_lII

6000

:
!

4000

2000

= 2000

=4000

= G000

20 -15 10 -5 O 5 10 15 20
diff_bom4eY/um

2000

1000

=1000

= 2000

= 3000

20 <15 10 =5 1] 5 10 15 20
diff_bpmdaY/um

diff_bpmdeY

2000

1000

= 1000

= 2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIII

3000 perlvr v berrr v berr s v bernn bvvaa

20 -15 -10 -5 O 5 10 15 20
diff_bpmdeY/um

diff

hpméleY

3000
2000

1000

=1000

= 2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

oo IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-20 =15 =10

" postpan:png

—12(

— 100

—16(

—14(

—12(

— 14

—12(

—{10(

20

—16(

—14(

—{12(

e000 —
i —100
4000 —
- " —|ee
soo0 - 0™
B 6o
oLmm n
i [
2000 J I 40
4000 —
B 20
L . .
=g000 —
i | L 111 | L 111 | L 1 11 | L 111 | L 111 | L 1 11 | ﬂ
=30 =20 =10 1] 10 20 a0
diff_bpmEfum
d '
3000 - —f14c
2000 —1a
1000 - m — 100
B - ol
B BO
b
Z = &0
“1000 g
i 40
_2000
B 20
—S'DUU _l L1 11 | L1 1 1 | L1 11 | L1 11 | L1 1 1 | L1 11 | ﬂ
~30 20 =10 (1] 10 20 a0
difi _bpmEfum
dibe pIIlE
N — —14(
2000 — —12[
1000 - -
i B0
D —
i B0
=1000 —
5 40
2000
= 20
-Eﬂﬂﬂ_l""l""|""|""|""|""| 0
-30 20 =10 1] 10 20 a0
diff_bpmEfum
diff _ hme
3n00 N
B u — 141
2000 -
i —12[
1000 — [ | —{ 100
B a0
ok [
[ = l. = 60
= 1000 N
i 40
_2p00
B 20
- . .
—.r.'lrl}ﬂlﬂ i | L 111 | L 111 | L 1 11 | L 111 | L 111 | L 1 11 | ﬂ
=30 =20 =10 ] 10 20 a0
diff _bpmEfum



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run3660 000 re

%

20000

10000

10000

20000

30000

15000

10000

5000

=5000

10000

15000

20000

diff_bpm4aX

_bpm4aX

-8 -6 -4 <2 0 2 4 6 8 10

- %2 / ndf 37.92 /42
[ Tt

#Fﬁm p0 -11.69 + 37.30
- p1 -3128 + 20.1
; "y

N ”h]

i boo
:|III|III|III|III|III|III|III|III|I_II|

-8 -6 -4 -2 0 2 4 6 8 10

diff_bpmdaX

¥2 ! nelf 36.33 / 42
p0 1051+ 21.26 1.#_* -
p1 1806 + 11.4 ﬂﬂm )
5000
of
-5000 [
- tsh
10000 | H[f“
-
1EDDDq||_||||||||||||||||||||||||||||||||||

-8 -6 -4 -2 0 2 4 6 8 10

diff_bpmd4aX

Yl
p0

p1

ndf 46.33 /42

-6.614 £ 21.373 Jr’f -

1677 + 11.6 +l1_H+ 4%

5000

=5000

10000

15000 =

4=
i+

*

i

8 6 4 2

:_-+ +2 / ndf 43.81/ 42
- 'HH% p0 4.118 + 21.497
- p 1632 + 11.7
E -h'-l+++#+ Jr-

5 LI

B }-

'_ t+
:|-IIIIIII|III|III|II|||||||||||||||II|

15000

10000

5000

5000

10000

15000

==
IIIIIIIIIIIIIIIIIIIIIIIIIII|IIII|IIII

¥2 / ndf 111.7 /34
pO 18.63 = 64.84
p1 -139.7 £ 106

|1H+ +
| Mﬂﬂ HH

i

40

=30 =20 =10

1] 10

20 30

diff_bpmdaY

¥= [ ndf 100.4 / 34
p0 14.19 + 31.82
p1 2725152

of |
- t
o Wpfh”“
10000 :— }‘l
40 =30 =20 -10

1] 10

20 30

diff_bpmdaY

%2 / ndf 109.1 / 34
p0  —27.77 + 37.08 M
pl 95.74 £ 612 * :
ol +
I 1
l H([JHHH
-5{:00:— “ -
'H]EIUU:—
:|||_|||||||||||||||||||||||||||||||||||
40 =30 =20 =10 0 10 20 30
diff
S w2 /ndf  97.53/34
'H}EIUU_— |‘
- "h p0 —18.5 £ 32.7
5000 [ } Hl
- p1 -261.3+54
[ - |+ Hﬁ+
of _
. "
i N f
~5000 — } -
: H
'H]EIUU_—
1EDDD%||||||||||||||||

-4

gressmn asym sam

VS

E

bpmdeX

C x2/ndf  37.85/39
S
zo000
! e p0 -12.04 + 22.83
10000 1 p1 -680.5 + 2.3
o
10000 |-
20000 ;— by
5 4
30000 [~ t
: I I | | 11 1 | 11 1 | 1 11 | 1 I_I
-40 =20 L 40 60
diff_bpmd4deX
15000 1 %2 / ndf 30.88 / 39
N h+r*
w000 My, p0 7.513 + 12.440
5000 p1 -365.1+£ 1.3
of
~5000 |
10000
: K
15000 | 5
200000 v Lo L L L
-40 =20 a 40 60

dlthpméﬁL

¥ /ndf  39.35/39
p0 -6.51+ 12.51
p1 393+1.3
5000
of
~5000 E—
10000
B JHH}”
15000 [- |
~40 ~20 0

40

60

diff_bpmdeX

%2/ ndf

p1

29.91 /39

pO -8.951% 11.509

3749112

5000

1]

~5000

10000

15000

d

F?

diff_bpmdeY

- ¥2/ndf  91.68/36
15000 |

. p0 17.23 + 65.10
10000 |-

C p1 -108.7 £ 16.6
5000 [ e

|

o b + |

- HHLW }
~5000 |- -
10000 [ } |
1EDUU:rl|||||||||||||||||||||||||||||||||||||||||||||

-25 =20 <15 -10 -5 O 5 10 15 20

diff bpmdeY
¥= | ndf 78.91/36

p0 17.21+31.05

pt 464.8 +7.9 " M{ H

S

_5000 |- t
W

mnnn:— }
N T N N

-25 =20 <16 10 -5 O 5 10 15 20

diff_bpmdeY

¥ /ndf  87.62/36 *

p0 —26.6 £ 37.3

: W;ww

= 5000

10000

L b bvror berrr v berer bvra b bvnaa I
-25 20 -1B 10 <=5 1] L 10 15 20

iff _bpmdeY

9-.

- ) %2/ ndf 77.28/ 36
10000 {

- _ p0 -20.74 + 31.97
5000 [~ 'Mw p1 -447.8 + 8.1

- h

of
-mnn:— {HH’L\ {
mnnn:— }"

_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

1t postpan.png

diff _bpmE

¥2/ndf  38.72/38 |
p0  -17.88 + 55.86 ]LHJd[ .
+ J
o1 662.9 + 9.9 | }
o
-5nnnf— 1
: ﬂ 1+
10000 = 7 _ ]l M’ t
15000 - ) }
Eﬂﬂlﬂﬂf— _]l
EEGUU:_III-Illl||||||II|IIII|IIII|IIII|
=3} =21 =10 o 10 20 30

diff _bpmE

%2/ ndf 43.76/ 38 }
p0  8.658 + 30.578 Hﬁ ]
p1 341.5 + 5.4 Jﬂ ﬁ }
ol
[ M 1

~5000 [~ + JqT'|+
- }

-

10000 —  -°
_|II-I_I|IIII|IIII|IIII|IIII|IIII|
80 -20  -10 0 10 20 30

diff_bpmE
—} 22 I ndf 39.72 /38

10000
[ {H} pO ~5.409 + 31.981

5000 - _» W{k f p1 ~-380.1+ 5.6
ol

5000 - }

i *U {
§ fﬁ _

10000 — Jﬂ[ -

:|||||||||||||||||||||||||||||||

=30

a

=20 =10

'E

1] 10

20 30

L - ¥2/ndf  42.76/38
10000 N --

b M PO —10.4 +30.9
5000 :— ) | ﬁ FH++ p1 -350.8+5.5

oF

~5000 :— J“w} }_
10000 :— | -

_l L1 11 | L1 11 | 111 1 | L1 11 | L1 11 | 111 1 |

=30 -20 =10 1] 10 20 30




reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run3660 000 regressmn reg_sam

dlthpmélaL

¥2 / ndf 44.66 / 42

p0 -7.47 +13.92 }

p1 6.154 + 7.590 hw _
r _|“'4'+'" ?"H

1000 | )

~2000 |

-3000 |

~4000 |- )
_|III|III|III|III|III|III|III|III|III|

-8 -6 -4 <2 0 2 4 6 8 10

diff_bpmdaX

diff_bpmdaY

%2 / ndf 36.45 / 34

p0 -4.328 + 14.018 "

p1 2.34 + 2.36

mnn:— }
Sl |
: * M '

_mnn:— r H

—E{Fﬂlﬂ—l v b v by b e L

1200 %2/ ndf 52.78 /42

1000 =

- p0 2315 + 5.820
BOO
- -0.765 + 3.179

600 - p1

400 |
200

200 }
400

-600 |-

1T
H

_E.I}Djllllllllllllllllll|III|III|III|III|

diff_bpmd4aX

¥2 / ndf 51.56 / 42

1000 —

pﬂ -12.53+t 542
p1 1.699 1+ 2.967 \{
- |
of {

_m;—_ W I ?W“ __

-8 -6 -4 -2 0 2 4 6 8 10

diff_bpmdaX -

%/ ndf 4717 /42

p0 -5.036 + 5.295

p1 1.54 + 2.91 '
— 1 |

T W} |

.'.'H} =20 =10 1] 10 20 30

diff_bpmdaY

diff_bpmdeX

diff_bpmdeY

%2/ ndf 32.53/ 36 *
pO -4.062 £ 13.991
p1 4.072 £ 3.625

%=/ ndf 2996/ 34
1000 :— p0 4.999 £ 5.886
i * p1 -0.2806 £0.9919
- ” — i } :
ﬂ: h |H t 1 Hﬂ{” - -
-s{m:— i }
=1000 _— *
[ | | il | | |
40 a0 20 =10 0 10 20 BTN

diff_bpmdaY

%2 | ndf 35.17 / 39
2000
1500 _ p0 ~3.274 + 13.930
1000 & p1 -1.313 + 1.435
s00 - } H | * |
F t
oF T st +
N | 1 |
~500 }
~1000 f— i
~1500 E— }
—E'DDD 1:_ I | | | | 1 | | | | | | | | 1 | | | | 1
=40 =20 0 20 40 B0
72 { ndf 23 28 / 39
p0 3.197 + 5.841
p1 0.5878 + 0.6045
400 :—
EHD:— | * I ]
: | |‘|1 + \ |
o00 | * } ]
_WD u I | | | | 1 | | | | | | | | 1 | | | | 1
40 20 (1] 20 40 [
w2 | ndf 55 8 /39
p0 122 +54

pi 0.7885 + 0.5657

¥2 | ndf 41.24 | 34
1000 |
800 | pC ~12.44 £ 5.46
600 pl  —0.08913 + 0.91401
400

kL

~400 |

~600

800

-40 =30 <20 =10 1] 10 20 30

dlthpmélaL

%2 [ ndf 41.06 / 34

po -8.151 + 5.351

p1 0.8834 + 0.9037

“E
| WW‘*‘M&

-400

~600

E.un'

T |
} Mo “*””W

-1000 |
~1500 [

-2000 F

=1000 [~

=1500 —

]

N m o {M

-25 =20 <15 -10 -5 O 5 10 15 20

diff_bpmdeY

diff _bpmE

%2 / ndf 30.82 / 38

p0  -4.814 + 13.950

p1 1.989 + 2.474

2
100 |- f ndf 26.07 /36
po 4.648 + 5.858
500 =
i ~0.6364 = 1.5196

iy

~500

diff_bpmdeY

¥2 [ ndf 36.39 /36
po _12.48 + 5.44

pi 0.4362 + 1.3949

1000

I]t

Wﬁwﬁ%w -|{+ _

1 {

-25 =20 <16 10 -5 O 5 10 15 20

diff_bpmdeY

%2 / ndf 31.13/ 36

p0 -7.298 + 5.327

p1 14 1.4

=000 _—
1_- l v oo v v by by |_ [ 11
=40 =20 i 20 40 LN
400 7=/ ndf 2617 /39
500 B p0 5374 £ 5310
i { p1 -0.5739 £ 0.5549
ol I
i [ “ + f'ﬂ“”i““‘
ool [ H |
ol ||,
600

”’vs dlf fiT posfﬁﬁﬂ'png

o -l

|

10 15 20

600 |

= 1000 _— i
= 2000 _— |
-l | I-I 1 | L 111 | L 1 11 | L 111 | L 111 | L 1 11 |
=30 =20 =10 1] 10 20 a0
w2 | ndf 52.06 /38
1000 = p0 4.256 + 5.847
- p1 ~0.1453 + 1.0419
00—
ll]-— - “}L‘“ﬁ U l\ -
i ) H H
=1000 _—
| L1 11 | L1 1 1 | L1 11 | L1 11 | L1 1 1 | L1 11 |
a0 20 10 (1] 10 20 a0
diff bpmE
%2 / ndf 38.53/ 38
p0 —12.08 + 5.45
pi 0.4539 + 0.9709 {
ST i
- | ' _
~500 - | |
=1000 _— )
I I T PR N
-30 20 =10 1] 10 20 a0
¥2 | ndf 43.51 /38
B0
600 :— p0 ~5.756 + 5.308
400 e _ pl  —0.01794 + 0.95159
00 * |M |
- ] H -
D: }H{ t ‘
~200 - |
400 - }
-600 |-
_Bo0 - {
_1'Dnn__lllllllIII|IIII|IIII|IIII|IIII|
=30 =20 =10 ] 10 20 a0




asym_sam

asym_sam

asym_sam

asym_sam

run3660 000 re

30000

20000

10000

10000

20000

30000

40000

15000

10000

5000

=5000

10000

15000

20000

& -5 -4 -2 0 2 4 & & 10
diff_bopm4aX/um

-8 -6 -4 -2 0 2 4 6 8 10
diff_bpmdax/um

iff bpm4aX

20000

15000

10000

5000

=5000

10000

15000

20000

20000

15000

10000

5000

=5000

10000

15000

& -6 -4 -2 0 2 4 & & 10
diff_bpmdaX/um

oressio

-|III|III|III|III III|III|III|III|III
& & -4 -2 45 2

n—asym

30000

20000

10000

10000

20000

30000

40000

40 =30 -20 -10 ©0 10 20 30
diff_bpmda¥ium

15000

10000

5000

5000

10000

15000

20000

20000

15000

10000

5000

5000

10000

15000

20000

20000

15000

10000

5000

=5000

10000

15000

40 =30 20 =10 1] 10 20 30
diff_bpmda¥/um

40 -30 -20 -10 ©0O 10 20 30
diff_bpmda¥ium

‘sam2468  vs

30000

20000

10000

10000

20000

30000

40000

15000

10000

5000

=5000

10000

15000

20000

20000

15000

10000

5000

=5000

10000

15000

20000

20000

15000

10000

5000

=5000

10000

15000

diff_bpmdeX/um

diff_bpmdaX/um

diff_bpmdeX/um

" bpim=

scat pos

it

30000

20000

10000

10000

20000

30000

40000 -20 =15

15000

10000

5000

= 5000

10000

15000

20000

=10

-5

0

5

10 15 20
diff_bom4eY/um

-20 =15

20000

15000

10000

5000

= 5000

10000

15000

10

-5

0

5

10 15 20
diff_bpmdaY/um

30000 perlvr v berrr v berr s v bernn bvvaa

-20 -15

20000

15000

10000

5000

=5000

10000

15000

=10

-5

0

5

10 15 20
diff_bpmdeY/um

-20 =15

tpan.png

it

30000
20000

10000

10000
20000

30000

40000

=

=20

iii[ﬁlfi___
15000

10000

5000

5000
10000

15000

20000

=10 1]

10

20 30
diff_bpmEfum

2
3

20000

15000

10000

5000

=5000

10000

15000

difi _bpmEfum

20000

S
3

20000

15000

10000

5000

=5000

10000

15000

diff_bpmEfum

G
3

=10 1]

20 30
diff _bpmEfum




6000 — 6000 — 6000 — _ 6000 — 6000 —
4000 — 4000 — 4000 — 4000 4000 —
2000 — 2000 — 2000 — 2000 — 2000 —
or o o o o
reg— S) —S i I =2000 — =2000 — =2000 — =2000 — ~2000 —
4000 — =4000 — =4000 — =4000 — =4000 — :
~B000 ' : ~6000 |- E ~6000 [ R ~6000 |- o ~B000 |-
_|III|III|III|III|II |I | I|III|III _|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II _|III|III|III|III|III _IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I _|IIII|IIII|IIII|IIII|IIII|IIII|
-8 -6 -4 =2 0 2 4 [ 8 10 =40 =30 =20 =10 o 10 20 30 -40 =20 0 20 40 60 =20 =15 =10 =5 0 5 10 15 20 =30 =20 =10 0 10 20 30
diff_bpmdaXium diff_bpmdaYium diff_bpmdeXium difi_bpmdeYium diff_bpmEfum

3000 [ 3000 3000 [ 3000 [~ 3000
2000 |- 2000 F 2000 |- 2000 2000
1000 |- 1000 - 1000 |- 1000 |- 1000 -
oF of oF of of
g : ~1000 | ~1000 | 1000 | 1000 | ~1000 | '
-2000 |- ~2000 ) ~2000 | ~2000 | ~2000
_S.DDD—[Illlllllllllllllll |I | I|III|III _:H}Dn—rllIIIIIIIlIIIIIIIIIlIIII|IIII|IIII|II _EDDD_l 1 1 | | | 1 | | | 1 | | | | | | | | 1 _MDD_IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I _mnn_lllllllIII|IIII|IIII|IIII|IIII|
8 -6 -4 -2 0 2 4 & B 10 40 -30 -20 -10 O 10 20 3D _ 40 _20) ) 20 40 &0 20 -15 -10 -5 © 5 10 15 20 _ap 20 10 ) 10 o0 0
difi_bpmdaXsium difi_bpmda¥ium difi_bpmdeXsum difi _bpmdeYium difi _bpmEfum
. Ef ™ ff . . ™
2000 | 2000 | 2000 oL 2000 | 2000 | L
1000 1000 1000 1000 1000 o
ok ol o~ . ol ol :
reg_asym_sam ' ' ' -- ' '
— — 1000 ~1000 ~1000 ~1000 ~1000 K
_E.I}DD B By - . .. = '.. . Lt .--. . . _E.I}DD | '... .. - . .-.- '. .., . - _E.I}DD | .. '._ .-.. .' S .: - '..- . ] _E.I}DD B ] '.. ;_. : .. . - . _E.Dnn |
Dl o b b b b boaa be e b Ll b b b b b Lo L NN NN I I Do b b b b b bor o bov b b C o oo b b b a oo
=3000 & - -4 -2 0 2 4 [ B 10 -:mnn_m 30 =20 -10 0 10 an an ~3000 —40 -20 0 20 40 &0 ~3000 20 -15 10 -5 © 5 10 15 20 ~3000 -30 -20 -10 0 10 an an
difi_bpmdaXsum diff_bpmda¥ium diff_bpmdeXium difi_bpmdeYium diff_bpmEfum
] iff iff iff bpmdeY '
3000 _ 3000 — 3000 [~ 3000 [~ _ 3000 —
2000 [ L e 2000 [ 2000 [ 2000 |- 2000 | LT e
1000 [~ 1000 [ 1000 [~ 1000 [ 1000
ok o ok ol - ' 0
eg_asym_sa | | : :
1000 |~ ~1000 |~ ~1000 |~ ~1000 |- ~1000
~2000 [ LT ~2000 [ PR | ~2000 [ ST R ~2000 [ SN | ~2000

Fun3660 000 resiession res sam2468vs diff Bom-scat postbai pis



asym_sam1

asym_samJ3

asym_samd

asym_sam’7/

diff_bpm4aX

diff_bpmd4aY

diff _

- n - - ] n —|200
- i - . 8000 L. 8000 450 8000
- —150 - - - -
- - - - - —18¢
BOOD — 6000 — e 6000 — —{16( BOOD [— —[40L 6000 —
i i . . i . 16
4000 [ 4000 |- 4000 [ —{14¢ 4000 |- e 4000 -
2000 2000 2000 =12t 2000 2000
- —{100 - - - - -2
- - - 100 - -
o o 300 o o o 100
B 80 i i 80 B i
-2000 |- ~2000 [ ~2000 |- ~2000 |- ~2000 B0
; ° ; 200 ; 60 ; ; 60
-4000 ~4000 ~4000 ~4000 ~4000
- 40 - - % - -
B i i B i 40
-6000 |- ~6000 |- 1ol -6000 |- -6000 |- ~6000 |-
- j " 20 - - i 20 [ " B m 20
_B.DDD—[III|III|III|III|III|III|III|III|III D _B.DDD—[IIIIIIIII|IIII|IIII|IIII|IIII|IIII|II ﬂ _EDDD_l 1 1 | | | 1 | | | 1 | | | | | | | | 1 ﬂ _B.DDD_IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I _E.Dnn_lllllllIII|IIII|IIII|IIII|IIII| ﬂ
8 -6 -4 -2 0 2 4 ©& B8 10 40 =30 =20 =10 O 10 20 30 _40) 20 0 20 40 60 20 -15 -10 -5 © 5 10 15 20 a0 -20 T 0 10 20 30
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium difi_bpmE/um
d ' d . d ' d . d .
- —25( a - - a
15000 15000 —|18t 15000 | —{10 15000 | —18¢ 15000 |18
K B —{1&c B K N —16(
10000 o 10000 10000 | 10000 —14( 10000
- - —{14c - —|8oc : : —{14c
5000 5000 = 5000 5000 F —12( 5000
- - i3 - n - 1
0 15t o 0 —goc 1] o —[10C ]
N N N N N 0
5000 5000 5000 5000 5000
N 100 N N N ] N 80
N N N 40( N N
10000 10000 | 10000 | 10000 | 10000 | 60
15000 5 0 15000 5 15000 - S0t 15000 5 15000 5 40
20000 - 20000 — 20 20000 20000 20 20000 — 20
- | - | - | - m - m
_|III|III|III|III|III|III|III|III|III D |IIII|IIII|IIII|IIII|IIII|IIII|IIII|II {' _l 1 1 | | | 1 | | | 1 | | | | | | | | 1 ﬂ _IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I D _|IIII|IIII|IIII|IIII|IIII|IIII| ﬂ
8 -6 -4 -2 0 2 4 ®& B 10 40 -30 -20 -10 O 10 20 3D _ 40 _20) ) 20 40 &0 20 -15 -10 -5 © 5 10 15 20 _ap  -20 10 ) 10 o0 0
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium difi_bpmEfum
i i — — 600 —z00 i — i — —1gr
4000 4000 4000 |- —lapr 4000
- _14[ - —18( - - _1'E|:
- - _-E'DE - -
- - —16( - 35 -
2000 - 12 2000 2000 - 2000 14
i i —14¢ i —ap( i
i —10c i M i i 1
B [ —{12¢ B [
0 - 0 - 0 - 35( 0 - -
N 80 R 300 100 N 20 R
~2000 0 ~2000 - 80 ~2000 ~2000 -
i i 200 i 150 i
i i &0 i i
i a0 i i i
-4000 -4000 a0 - 4000 100 -4000 40
- - 100 - - -
R 20 | | 20 | 50 | 20
6000 | . —gooo - ™ 6000 |- . _gooo ™ 000 | .
Lo b ea o e bvea b b b aa Lo 0 oot bbby b oo b 0 T N N T N N TN TN NN NN T M AN T N I A A O 0 pr bbb b e b b b b 0 Lov v o aa e b raa b aa v d 0
& -6 -4 -2 0O 2 4 ®& B 10 40 -30 -20 -10 O 0 20 30 _4D _30 0 20 40 &0 30 -15 -10 -5 © 5 10 15 20 T 10 0 10 o0 30
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium difi_bpmE/um
diff_ diff_ diff_ diff_bpmdeY diff_
- — —24( - [~ u —16( C
25000 25000 _ 25000 25000 25000 _
- —22( - 180 - —700 - - he
ul ul ul ul —14( ul
20000 o 20000 et 20000 20000 £ 20000 £ iy
n u u —sor n u
15000 —18( 15000 iar 15000 15000 S . 15000
- n n - n =120
10000 - —[ 18t 10000 o 10000 - —Is0c 10000 - o0 10000
- —14¢ - - - : — 10
5000 5000 5000 5000 | 5000
- 120 ~ 100 ~ 40( - ~ ap
oF 10¢ o 80 o oF oF
- - - 30C - -
5000 80 “5000 - m o ~5000 | 5000 F 5000 60
10000 | B0 10000 20 10000 - 20¢ 10000 - 10000 m
15000 40 15000 | 15000 F 100 15000 15000
- - a0 - - - 20
- 20 - - - -
E.I::Il::ll::”:'l__|III|III|III|III III|III|III|III|III E'DDDD_ EDDDD__ | IJ_l | 1 | | | E.I::Il::"::":'l_IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I Eﬂnnn__lllllllIII|IIII|IIII|IIII|IIII| ﬂ
20 T ) 10 20 30
diff _bpmEfum

run3660 000 regres:

oression-asvm samil3

~vs d

pm=COLZ ‘postpan.png



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run3660 000

- —12¢
1500 |
- —10c
1000
500 —{B0
0 [
B &0
~500 -
- 40
~1000
1500 : 20
= [ |
- Em n
_l 1 11 | 1 11 | 111 | 1 11 | 111 | 1 11 | 111 | 111 I 111
-2000 -8 -6 -4 =2 0 2 4 6 8 10 o
diff_ bpmdaX/um
d '
B I—
1500
- u f —12(
1000 — o
500 -
B a0
0 [
B [
B [ ]
~500 [~
- 40
1000 |
- . n 20
i u [
_15[:”:' —[ L 11 | L1l | L L1 | L 11 | L1l | L 11 | L1l | L1l I L1l D
8 6 -4 -2 0 2 4 6 8 10
ditf_bpmdaX/um
diff_ bpm4aX
i ]
1000 —12¢
i —{10€
500
- 80
ﬂ -
. &0
500 40
i 20
-1000 -
b b b b b b Lo 0
8 6 -4 -2 0 2 4 6 8 10
diff_bpmdaX/um
1500 |-
- —12¢
1000 |-
- —10c
EQD:-
[ 80
o
N 60
-EﬂD:-
i 40
1000 |~
1500 — m 20
B u ]
| 1 11 | 1 11 | 111 | 1 11 I 11 | 1 11 | 111 | 111 I 111

& & -4 -2

- —16¢
1500 [ —{141
1000 -
500 — — 100
ﬂ‘:— " 80
~500 60
~1000 | 40
~1500 | 0
[ [ |
_l L1 11 I L1 11 | L1111 I L 111 | 1111 | 1111 I 1111 I 11
=2000 40 =30 =20 -10 0 10 a0 a0 o
diff_ bpmdaYium
d '
1500 [ —{18
Z —16¢
1000 |~ m
- u —14¢
500
0 [
- N :.
500 :—
B |
~1000 |
- = n
_15[:”:' —[ L1l 11 I L1 11 | L1111 I L1111 | L1l | L1l I L1l I L1 ﬂ
40 -30 -20 -10 O 10 20 3D
diff_ bpmdaYium
difL
i - —18¢
oo —18(
i —14¢
500
- —12
- 100
ﬂ -
- o
~500
i 40
~1000 = 20
I T T T ST Y 0
40 -30 -20 -10 O 0 20 30
diff_ bpmdaYium
d '
1500 |~ P
C —18¢
1000
B —{16(
500 :— —14(
ofF m
~500 [
1000 |-
1500 |- . 50

—{12¢
1500
—1oc
1000
500 —ap
0 &0
500
40
1000
20
1500
— 2000 0
difi_bpmdaX/um
d .
| I
1500 [
- —{12¢
1000 |-
- —{10c
500
B 80
0 [
. B0
-500 -
- . m
1000 -
x n 20
[ u [
S1IS00) b b v b e 0
T 20 0 20 40 B0
diff_bpmdaXium
difL
1000 |
—12¢
500
—{10¢
80
o
B0
_500 40
20
1000
0

1000

500

=500

=1000

=1500

regresmon—mreg_sa“ﬁiigﬁ ivs diff bpm-

diff_bpmdeX/um

14(

1500

1000

500

=500

= 1000

=1500 EE

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
|

= 3000 IIIIIIIIlIIIIlIIIIlIIII|IIII|IIII|IIII|IIII|I

20 -15 10 -5 O 5 10 15 20
diff_bom4eY/um

1500

1000

500

-500

= 1000

=1500

20 <15 10 =5 1] 5 10 15 20
diff_bpmdaY/um

diff_bpmdeY

1000

500

=500

~1000 C I

20 -15 -10 -5 O 5 10 15 20
diff_bpmdeY/um

diff _bpmdeY

1000

500

=500

=1000

=1500
|
o b v by b e s By bvaaa 1

-20 =15 =10

- postpan:png

140

120

100

160

14

12(

20

160

14(

120

100

16(

14(

120

n —{12¢
1500
1000 —{10(
500 a0
o [
- W &0
~500 [~
E 40
~1000
~1500 20
_E_Dnn B | L 111 | L 111 | L 1 11 | L 111 | L 111 | L 1 11 | ﬂ
-30 20 10 0 10 20 30
diff_bpmEfum
d '
1500 - qar
1000 | |12
n —{10c
EﬂD:-
- 80
o
B B0
500 :—
C 40
~1000 |
. 20
N n
—15':“] _l L1 11 | L1 1 1 | L1 11 | L1 11 | L1 1 1 | L1 11 | ﬂ
a0 20 10 ) 10 o0 0
difi _bpmEfum
difL
i —{14c
1000
. —{12¢
500 - —{10c
| 80
D —
. &0
~500 40
i 0
-1000 |
I I T PR N 0
30 30 10 0 10 o0 30
diff_bpmEfum
difL
1500 |-
N —{14(
1000 |-
E . —{12¢
Eﬂﬂ:-
_ —{10c
0 [
- 80
~500 [~ B0
C [ |
1000 |- 40
o 0
1500 - g "
N |
B | L 111 | L 111 | L 1 11 | L 111 | L 111 | L 1 11 | ﬂ
30 20 10 0 10 20 30

diff _bpmEfum



asym_sam1

asym_samJ3

asym_samd

asym_sam’7/

dlthpmélaL

¥2 / ndf 43,52/ 42

p0 -4.61 £ 13.13

o1 1085 + 7.2
N t M +
ok | ]
B h F
1000 4|l 1 J -
2000 _
=3000 jl 11 I 111 | 111 | 1 11 | 111 | 111 | 1 11 | 1 11 | 111 |
85 6 4 2 0 2 4 6 B8 10

dlthpmélaX

PR y2/ndf  41.24/42
= ‘TLF*
RE ey, 00 10.21+ 18.53
000 ol 1790+ 9.9
o
-5000
10000 | w{ﬁ i}
: i
15000 [~ -
20000 -
—l L1 I | | | | | | L1 | L1 1 | | | | 111 | L1 | I_I | |

-8 -6 -4 -2 0 2 4 6 8 10

diff bpmd4aX
¥2 ! ndf 40.84 / 42

pO 1.242 + 9.200 |-

p1 93.76 £ 5.05

1000

1
——
—_—

500

1]

=
-+

=500

—_—
(R T—

=1000

AN LR R RERLY LAl RARRN LA
==

-1500 1'|||| el bevr bv e bvrar e v v baad
-8 -G -4 -2 1] 2 4 & A 10

diff_bpmd4aX

%2/ ndf 41.47 / 42

pO -6.306 £+ 22.541 F- 7T

p1 2214 + 12.1 B -

=5000

10000 14

_H,+-|-
i
4

15000

run3660_000_reﬁfésﬁsmn asym sam|l

iff_ bpmdaY
BO00 —

diff_bpmdeX

[ %2/ ndf 32.07 / 34 %2/ ndf 35.26 /39
6000 |- :
: +[Lf'* p0 -2.675 + 4212 p0 -65.866 + 12.945 4' i
4000 |- kN |
: . p1 -215.4 £ 0.7 p1 30.93 £ 1.33 ]L
2000 | i ]lﬁ
[ i f } I
ﬂ:‘ =
: : } | |
-2000 - ; H !
- -, -1000 |-
~4000 [ "t i
: ", : *
~6000 [~ tt 2000
| 1111 I 1111 | 1111 I 1111 | 1111 | 1111 I 1111 I 1 1 |_ I L 1 1 | 11 | | 1 1 | | | 11 | | | |
40 -30 -20 -10 0 10 20 30 40 20 0 20 a0 80
diff bpm4aY diff_
y2/ndf 1086/ 34 18000 - 4, 2/ ndf  31.15/39
00 0563 + 35.64 10000 p0 10.27 + 3.34
p1 89.5+ 5.8 5000 |~ P ~395.5 + 0.4
: T
2000 |- -
ﬂf_ - 5000 [~
-2000 ;— } 10000 [ _"xh
~4000 " - : ++*—_+
- _ 15000 - -,
~B000 [ } -
- 20000 F
_E.DDD __l 11 11 I L1 11 | 111 I L1 11 | L1111 | L1111 I L1111 I 11 1_' I | | | | 1 | | | | | | | | 1 | | | |_ 1
40 -30 -20 -10 0 10 20 30 40 20 0 20 40 80

diff_bpmdaY

%2 / ndf 97.56 /34
1‘.‘.
p0  -1.996 + 2.965 S '
o1 149.5 + 0.5
ol
=2000 :' &
L <|-}+h#+

-4000 |- A
~6000 1‘.f||||| v b by by bvaaa b

-40 =30 <20 =10 1] 10 20 30

diff_bpmd4aY

diff_bpmdeX

¥Z / ndf 35.64 /39

p0 3.187 £ 9.229
p1 7.087 £ 0.944
500

- 500

h—

SR 0] 0 =20 N N T A T

-40 =20 0

20 40 60

diff_bpmdeX

10000 [~ ¥2 / ndf 106.2 / 34 %2/ ndf 46.36 / 39
i } " p0 -24.96 + 43.83 p0 -5.489 + 3.492
5000
i M pi -110.2 £ 7.2 p1 487.7 £ 0.4
i I =
o HJ 1} | - 5000 -
i + } "
i “ o
S5000 -
. ~5000
i 10000 — .
10000 :
i 15000 F &
| 1111 I 1111 | 1111 I | I | | 1 1 n i

=40 =30 =20 =10

“vs diff bp

%

_bpmdeY

8000 [
[ %2 / ndf 59.67 / 36
6000 +
[ T - " p0 -2.309 + 4.798
- -|-+|_
4000 ++
[ T p1 -328.7 £1.3
2000 [
of
~2000 |
~a000 | m“t#mﬂ
~6000 |- P}
:|||||||||||||||||||||||||||||||||||||||I||||I||

-25 =20 <15 -10 -5 O 5 10 15

20

diff_bpmdeY

¥2/ndf  85.49/36

p0 27.09 £ 35.28

p1 18112 9.0

I

2000

1]

+H++{W

= 2000

=4000

= G000

|

8000 — -

=25 -3 -1 =10 <5 ] 5 10 15 20
¥2 ! nelf 124 5/36 m{’
p0  -1.381+3.703 i
wt
p1 224.1+x1.0
ol
= 2000 _— -F#;
I e
S
~4000 _
~6000 7]|1||||||||||||||||||||||||||||||||||H|||||||
=25 =20 =15 =10 <5 1] 5 10 15 20

diff_bpmdeY

10000 [~ ¥2 / ndf 84.13 /36
i p0 -25.54 4+ 43.38
000
- - ﬂ« p1 -236.7 +11.1
i _ HL # ‘
oL yt M
-5[:00-—_ | _
10000 ;
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

1t postpan.png

diff_bpmE

%2/ ndf 30.39/ 38
pO -8.973 £ 13.206

p1 -22.45+ 235

- Iy
“— ) Hk m !

=30 =20 =10 1]

diff _bpmE

¥2 / ndf 41.24 /38
p0 9.737 + 30.186

p1 375354

7

~5000 A

[T T T T[T T[T 11
1
—_
—

10000

10 20 30

=30 =20 =10 1]

diff_bpmE

1000

500

10 20 30

¥2 / ndf 32.33 / 38

pO 3.9111£9.229

p1 -10.57 £ 1.64

=500

=1000

=1500

=
IIIIIIIIIIIIIIIII|IIII|IIII|IIII
|
II
—_—
—_—

|

=30 =20 =10 1]

diff_bpmE

15000

10000

5000

10 20 30

%2/ ndf 42.91/ 38
pO -5.117 £ 37.086

p1 -463.9 + 6.6

=5000

10000

=
IIIIIIIIIIIIIIIIIIIIIIIIIlIIIIlI

15000

=30 -20 =10 1]

10 20 30




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run3660 000 reg

diff_bpmdaX

%2/ ndf 51.21 /42

p0 -2.983 + 3.972

p1 1.021 £ 2174 | |||“
i |I|LWITHL|,hrrr1¢' ' ' ﬁ

-200 |

400

600 -

~800 |

~1000 |
—||||I||||||||||||||||||||||||||||||||
8 6 4 -2 0 2 4

6

8 10

diff_bpmdaX

#

j

|

|

¥= ! ndf 41.4 /42
p0 11.85£3.07
p1 21/6x1.713 {
oF ‘HWHT%WWMWM
-;_*m:— |
~400
-EﬂlDf—_
-aanf—
e
-8 -5 -4 -2 0 2 4

91

iff bpmdaX

6

8 10

diff_bpmdaY

4435742

400 — ¥ | ndf
i pO —0.03285 + 2.29639
200 —
i p1 —0.03983 + 1.26223
B T
: h ! |T|
ID_— + ' H
200 - -
- '
400 — _
||_|||||||||||||||||||||||||||||||||||
-8 -G -4 -2 1] 2 4 & A 10

diff_bpmd4aX

jt

|

¥2 ! nelf 32.64 /34
p0 —2.638 £4.001 _
p1 1.05x0.67
200 } }
ofF } HWMFWM{
- 1 w -
200
~a00
600 |-
-|||||I|||||||||I||||||||||||||I||||I||
40 -30 -20 -10 0 10 20

diff _bpmd4aY

800

600

400

200

=200

=400

_I_IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

- 600

30

¥= | naf

pO

24317 34

13.3+ 3.1

p1 —0.03292 + 0.51822

—"

| ww@a«mﬁ%ﬁ}

5

di

400

200

=200

~400

=30

=
%

=20 =10 1] 10 20

30

2/ ndf

N

374734

p0 -0.1421x 2.3144

-0.4747 £ 0.3819

|

}

-40

91.

+2 / ndf 41.37 742 a0 &
p0 _7.864 + 3.093 300
200 |
p1 0.5505 + 1.7052 u
00T 100
- + | - oF
[ | f R + } 100
-200 _ -200
400 _ } } 300
i ) -400
II 1 1 I 111 | 111 | 1 1 I 1 1 | 111 | 111 | 111 | 111 |

5 -4 -2

=30

=20 =10 1] 10 20

30

iff bpmdaY

x= [ ndf 45437 34
p0 -8.93 = 3.11
p —0.2187 £ 0.5217

F

I { |||N
m g

l'_

_I_IIIIlIIIIIIIIIIIIIIIIII

III|||||||III|III

-4

-30

ression reg saml.

E

bpmdeX

diff_bpmdeY

diff _bpmE

%2 / ndf 18.37 / 38
p0 -2.401 £ 3.984

p1 0.6961+ 0.7112

of 'WWW
a0 - | { i
_a00 [ |
600 |-
_l 1 1 11 | L 1 1 1 | L1 1 1 | 1 1 11 | L 1 1 1 | L1 1 1 |
30 -20 -0 O 10 20 30
diff _"bpmE
12
000 |- i f ndf 3797 /38
s00 - p0 12.33 £ 3.08
600 |- p1 ~0.5584 = 0.5637
400 |- )
- 1 i
200F - ]LH +
L - hﬂilllh g
e "Wﬂl{ﬂ § 1 *
~200 [ }
~400 |
]
—| 11 11 | 11 1 1 | L1 1 1 | 11 11 | 11 1 1 | L1 1 1 |
30 -20 10 0 10 20 30
diff _"bpmE
300 %2 { ndf 19.5/38
g{;n;— p0  —0.4076 + 2.3048
wof | * pl  —0.5198 +0.4102
- | } |
- Hipmeoniy
100 [ : {
-200 [
300
_MD-_|||-||||||||||||||||||||||||||||
30 -20 10 0 10 20 30
2 / ndf 57 /38 )
p0 —7.756 + 3.086

p1 0.1021+ 0.5485

1000 |- +2 [ ndf 36.07 / 39 ¥2 / ndf 31.32/ 36
800 |-
N p0 -1.212 £ 3.972 p0 -2.968 + 3.988
600 —
w0k L p1 —-0.7303 + 0.4155 p1 1.385 + 1.020 )
: 0 |
200 |- W} - - WH W |l -
of | Hpmmth] | £ [t
200 ]l { . S I |
- } ~200 | |
400 | i i -
-E.DD:— -4{?0_—
800 00 -
n I | | | | 1 | | | | | | | | 1 | | | | - | _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
40 20 0 20 40 &0 25 20 -15 -10 -5 © 5 10 15 20
diff bpmdeX  diff bpmdeY
¥2 | ndf 3273/39 %2 [ ndf 42.7 [ 36
p0 11.59 + 3.06 H po 14.22 + 3.09
p1 0.06713 + 0.32927 ' p1 0.2264 + 0.7937
i w :
=200 [~ n _ so0f - H _
_ . }
-400 o } H’f”ﬁ#‘"‘“% }HH
: - W M T
-soo - 200 |
—-E-'DD:— - _mn:_ =
~1000 | i 600 |- ]
IIII |II I|II I|I II|I 1 1 _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
_40 _o0 0 20 40 50 35 .20 -15 -10 -5 © 5 10 15 20
%2 { ndf T 43.69/39 400 2 ndf 2955 / 36
p0 -1.115 + 2.295 - p0 —0.03743 + 2.30564
p1 0.4723 + 0.2404 { i 2o } pi ~0.5909 + 0.5856
o N|'W+W%ﬂ+ gt W - W i
| ']
i } } I ) Hm’f' T
200 S
[ 300
400 _ -
00 - _a00|- i
R [ T T N T T T A NN N A O ||_| L1 Cocvr b bvrr b bvrnberrr bvrva b bvnaa b
_40 20 0 20 40 &0 35 .20 -15 -10 -5 © 5 10 15 20
diff_ bpmdeX diff _bpmdeY
2 / ndf 53.54 / 39 I +2 [ ndf 49.5 /36
400
p0  -7.953 +3.088 | [ po -9.596 + 3.095
p1 0.423 + 0.322 200 - ) p1 -0.3212 £ 0.8017
IO ‘ ]l . uill } |
i I 1
B t +, 1 - o _ H H”‘
or J M YRR ]‘W - 1“# UL +|Jn“
200 H - -
- } _200 |-
-mn:— -
: 400 |
: -IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

57 'vs dlf fiT “postpan.png’

20

_ ‘M}H“ A}” |
M




asym_sam1

asym_samJ3

asym_samd

asym_sam’7/

run3660 000 re

di

8000

6000

4000

2000

=2000

=4000

~6000

-8000

_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1
b

65 -4 -2 0 2 4 & & 10
diff_bopm4aX/um

diff_

15000

10000

5000

=5000

10000

15000

20000

4000

2000

=2000

-4000

~6000

25000

20000

15000

10000

5000

1]

=5000

10000

15000

20000

i [T
=

-6 -4 -2 0 2 4 6 8 10
diff_bpmdax/um

diff_bpm4aX

& -6 -4 -2 0 2 4 & & 10
diff_bpmdaX/um

& & -4 -2

diff _

8000
6000
4000

2000

=2000
=4000

6000

_lIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~B000 IIIIIIIIIlIIIIIIIIIlIIII|IIII|IIII|II

40 =30 -20 -10 ©0 10 20 30
diff_bpmda¥ium

=

15000

10000

5000

5000

10000

15000

20000

40 =30 20 =10 1] 10 20 30
diff_bpmda¥/um

4000 —

2000 —

=2000 —

=4000 —

6000 =

40 -30 -20 -10 ©0O 10 20 30
diff_bpmda¥ium

diff_bpm4aY

diff _

8000
6000
4000

2000

= 2000
=4000

~6000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~8000 |- |

5
3

20 40 &0
diff_bpmdeX/um

diff_bpmdeX

15000

10000

5000

=5000

10000

15000

20000

L[
S

4000 -

2000 —

=2000

=4000 —

=600

20 40 60
diff_bpmdaX/um

20 40 B0
diff_bpmdeX/um

diff_bpm4eX

8000

6000

4000

2000

= 2000

=4000

=G000

=B000

20 =15 =10 =5 0 5 10 15

20

diff_bom4eY/um

15000

10000

5000

= 5000

10000

15000

20000

20 <15 10 =5 1] 5 10 156

20

diff_bpmdaY/um

diff_bpm4eY

4000 -

2000 —

= 2000 —

=4000 —

~6000 —

20 <15 10 -5 0 5 10 15

20

diff_bpmdeY/um

diff_bpmdeY

25000 F- 25000 |- 25000 -
20000 F- 20000 - \ 20000 -
15000 |- 15000 - 15000 -
10000 10000 - 10000 -
5000 |- 5000 |- 5000 |-
u; ﬂ; ﬂ; :
~5000 i— ~5000 i— ~5000 —
10000 |- 10000 - 10000 -
15000 - 15000 |- ;‘ 15000 |-
E.DDDD__ E.DDDD:_ E.I::Il::":":'l:_IIIIII|||||II|||||||||||||II|IIII|IIII|IIII|I

oression-asvm ‘Sam1357 “VS diff “bpm=scat pos

-20 =15

tpan.png

di

8000

6000

4000

2000

= 2000

=4000

~6000

~8000

=

15000

10000

5000

=5000

10000

15000

20000

4000

2000

= 2000

=4000

JIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1 1 11 | L 1 1 1 | L1 1 1 | 1 1 11 | L 1 1 1 | L1 1 1 |
=30 =20 =10 0 10 20 30
diff_bpmEfum
- [
: | L1 11 | L1 1 1 | L1 11 | L1 11 | L1 1 1 | L1 11 |
-30 -20 =10 0 10 20 a0

difi _bpmEfum

6000 -

25000

20000

15000

10000

5000

~5000

10000

15000

20000

-30 -20 =10 0 10 20 30
diff_bpmEfum

-0 20 =10 0 10 20 30
diff _bpmEfum



1500 1500 1500 [ 1500 |
1000 1000 | 1000 [ 1000 |
500 500 500 500
0 0 0 0
reg_asyin_Ssail o0 o0 00 00
~1000 ~1000 F ~1000 F ~1000 [
~1500 |- T T ~1500 |- R | 500 o S -1500 |-
oo sttt il S S [ NI
dii_bpmdaX/um ditf_bpm4aYium ditf_bpmdex/um dii_bpmaeYium ditf_bpmEium

l[bf . l[bf lff .
| B | — B | B —
1500 |~ 1500 [ o 1500 |- 1500 |- 1500 -
1000 |- 1000 | 1000 |- 1000 |- 1000
500 [ 500 500 [ 500 [~ 500
reg_asym_sam ' F ok oF ;
-500 | -500 - -500 | -500 [ ~500
~1000 | ~1000 | ~1000 | 1000 | | ~1000
_1EDD—IIII|III|III|III|III|III|III|III|III _1EDD—|-IIIIIIIIIlIIIIIIIIIlIIII|IIII|IIII|II _1EDD_| 11 1 | l 11 | 11 l | l 11 | 11 | _1EDD_IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I -1500
8 6 -4 -2 0 2 4 & & 10 40 -30 -20 -10 0 10 20 30 ~40 ~20 0 20 40 60 20 -15 -10 -5 ©0 5 10 15 20 30  -20 10 D 1 20 30
diff_bpmdaX/um diff_bpmdaYium diff_bpméaX/um diff_bpmdeYium diff_bpmEfum
iff iff iff iff bpmdeY '
1000 |- 1000 |~ 1000 |- 1000 |~ _ ; 1000 |-
500 |- 500 — 500 |- 500 |- 500 |-
o o o ol o
€g_aSYIIl_S4a : : : : :
~500 |- ~500 |- ~500 |- ~500 |- ~500 |-
~1000 RS ~1000 [~ ' R ~1000 [~ Lt ~1000 [~ I ~1000
L bl b b o baa b aa Lo b b b b b b L IR TNN N T H NN N N A N AN NN R ANY b b b b b b b L L s b b b boa o b o |
8 6 -4 -2 0 2 4 & & 10 40 -30 -20 -10 0 10 20 30 ~40 -20 0 20 40 60 20 -15 -10 -5 ©0 5 10 15 20 30 -20 10 D 1 20 30
diff_bpmdaX/um diff_bpmdaYium diff_bpmaaX/um diff_bpmdeY/um diff_bpmEium
. . . l[nf .
1500 |- - 1500 [~ _— _ 1500 |- - 1500 |- 1500 [~ —
1000 |- 1000 | 1000 |- 1000 |- 1000 | '
500 | 500 500 | 500 |- 500
o oF - of | of of
reg_asym_sam of ot ot ol ok
1000 | 1000 |- 1000 | ~1000 |- ~1000 | i
1500 | o 1500 |- . -1500 | - -1500 |- . ~1500 |-
L 1 1 | L 1 1 | 1 1 1 _IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I _|IIII|IIII|IIII|IIII|IIII|IIII|

gy I ISP IIpRETEE e ppF- Y e s e
run3660 000 regression-reg saml357°vs diff bpm-scat postpan.png



